acks-chain-consistent!3:4°

Ves:ES, Out, Sys:AbsInterface(Top), Ack:AbsInterface(N), g:sys-antecedent(es;Ack),
chain:({e:E| (1(e €p Sys)) V (1(e €p Ack))} —(Id List)).
(E(Out) Cr E(Sys))
= chain-config(es;p-conditional(Ack; Sys);chain)
= (Ve:E(Sys). (T(e €, Out)) = (loc(e) = last(chain(e)) € 1d))
= (Ve:E(Ack).
(=(loc(g(e)) = loc(e) € 1d))
= (adjacent(Id;chain(e);loc(e);loc(g(e)))
& adjacent(Id;chain(g(e));loc(e);loc(g(e)))))
= (Ve:E(Ack). (loc(g(e)) =loc(e) € Id) = (1(e €y Out)))
= chain-consistent(g;\e.rev(chain(e)))

http://www.nuprl.org/FDLcontent /p0-963683_/p0-379961_{ acks-chain-consistent } .html



